vsa with Malcolm

December 16™ Quiz

http://www.forexfactory.com/showthread.php?
p=6298102#post6298102

All answers are the views of each individual
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1. HiddenGap:

We haven't had one of these in a while.

Your mission, should you choose to accept it, is to match the numbers with the bar descriptions. If
you fell a better description for the bar exists, you can use that. Extra credit: part I: define your
entry (ies). Part II: match the extra definition to the correct bar.

A. Demand Swamping Supply H. Climatic Action

B. Hidden Test I. Test

C. Up Squat J. No Demand

D. Reverse Up Thrust K. Supply Coming In
E. Supply Swamping Demand L. Hidden Test

F. Test M. Test

G. Down Squat N. Pushing thru Supply
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2. Gxpl:
http://www.forexfactory.com/showthread.php?p=6298675#p0st6298675

Ahbh just like being at school!

ok my entry would be long and entry on a test bar with low vol also lower than prev 2 bars and once
directional change is confirmed (blue line) so it would be bar#9

1. D. i think its a shakeout

2.B.

3.N.

4. J. but has a tail so not happy with this ,two bars before it is also a no demand and next is upthrust

confirms weakness
5.A.

. 1 prefer push thru supply

m =

. J. but has a tail so i am not sure
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3. Rolland:
http://www.forexfactory.com/showthread.php?p=6298692#p0st6298692

Guess 1'll go this route.
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4. SimpleDev:
http://www.forexfactory.com/showthread.php?p=6299473#post6299473

HAHA! Everyone loves a good forum game! &

D. Reverse Up Thrust

A. Demand Swamping Supply
Supply Swamping Demand
Hidden Test

G. Down Squat

. Climatic Action

K. Supply Coming In

I. Test

F. Test

10. C. Up Squat

11. L. Hidden Test

12. M. Test

1.
2.
3.E.
4. B.
3.

6. H
7.
8.
9.

*Edit*

#3 This bar is giving me a lot of trouble, I think I would dismiss this bar, technically its an up bar
closing in the middle which suggests supply, but how weak can this bar be? The next bar closes
above the high of this bar.

Bar 8 seems like an aggressive entry, I am not an aggressive trader.. I would have taken 11, The
biggest reason is that the trend has confirmed it self as up.

Extra credit #2, count 2 bars to the right of #9, pushing through supply, I fail on the no demand,
nothing on this chart I would consider a true ND. I prefer the high of a NDs to be higher than the
previous bars high and a close in the middle on low volume.
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5. KinsaleForex:
http://www.forexfactory.com/showthread.php?p=6300648#post6300648

Hmm, 12 numbers, 14 letters! I left out. I. Test E. Supply Swamping Demand
I actually found this pretty tough, nice little exercise though!

. D. Reverse Up Thrust

. A. Demand Swamping Supply
. K. Supply Coming In

. L. Hidden Test

. G. Down Squat

. H. Climatic Action

. N. Pushing thru Supply
. M. Test

. J. No Demand

10. C. Up Squat

11. B. Hidden Test

12. F. Test

O 00 1N DN K~ W~
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6. pres78:
http://www.forexfactory.com/showthread.php?p=6302769#post6302769

1. D. Reverse Up Thrust

2. A. Demand Swamping Supply

3. E. Supply Swamping Demand

4. B. Hidden Test

5. G. Down Squat

6. H. Climatic Action (I see this and bar #10 as climatic action so [ am confused about which is
supposed to be it for this quiz)

7. K. Supply Coming In

8. F. Test

9. J. No Demand (I don't agree with this fully but this is the only one I can see would be a red dot
ND)

10. H. Climatic Action and if not then I’1l call this one the official C. Up Squat

11. L. Hidden Test

12. I. Test

1 see the bar 2 after # 9 as N. Pushing thru Supply
1 see that either the bar after 6 or the bar after 9 is the C. Up Squat

1 have no idea where the second test is... plus you said only 1 extra definition but this makes two... I
guess 4 bars after 9 could be viewed as a test M. Test

As for entries I see 2 possible and 1 that I would take day in and day out.

Possible entry 1 is on the re-break of the high of bar # 3. This bar contained all up bars until bar 7.
Bar 7 showed some bull interest but also remaining supply. Then we came back down on increased
volume down bar followed by a NS /test (bar 8) and then bar 9 which is a NS/UT and then the next
bar which was an effort to fall which closed back above the high of bar 1 which at the time was still
the highest volume of the day and the control bar for the lower price action. We have seen the
climatic action into the low of bar 1 on bar 6 which made the lowest low but closed above the low
of bar 1... all of this combined with lack of selling after seeing the initial attempt at range breakout
makes this a decent long entry.

Entry that I would take is the push out through supply two bars after bar 9 which had the next bar
up showing us that SM were buying more than selling and then a NS bar followed by what could
almost be called a hidden test. We are above the highest volume zone of the day and see no SM
selling so long is the safest bet. We have only moved 45 pips or so so we should still have some
room overhead. Obviously I would consider any overhead zones for targets and resistance but this is
a no brainer trade for me. Also we have broken though and are above that 3100 level...

Possible entry 2 is going long off the test bar #12. Test is of the close of bar 10 so I would be more
wary as we are right below the high but we did make a brief break once already and the BG is
strong. We are also testing into 3130 which for me is an important 1hr zone level from back in
September and we have room up to the next level at 3150 and then 3170 so this trade would be
considered... the ADR would play a factor as we have now moved 70+ pips

That's my 2 cents I guess since HG called me out and forced me to reply &%

Always love the tests HG good to see some people have replied nothing better than some team
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learning!

For me seeing the entries based on my VZA is much easier than assigning the right names to bars...
guess I need to go back to VSA school!
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7. HiddenGap Answers:
http://www.forexfactory.com/showthread.php?p=6302873#post6302873

Official Answers:

1. D. Reverse Up Thrust (Shake Out is a good alternative response. However, the volume is a bit
low for a shake out)

2. A. Demand Swamping Supply

3. E. Supply Swamping Demand

4. B. Hidden Test

5. G. Down Squat

6. H. Climatic Action (The volume could be higher for Climatic Action, but what cannot be seen is
that the range of this interval is the widest range in the last 40 intervals. Thus this is more climatic
for its range than for its volume.) Nice pick up on this one to all who got it.

7. K. Supply Coming In (I am surprised here that so many people got the Pushing thru supply
correct (( 2 intervals after #9.)) but did not see this as at least some of the supply that was being
pushed thru. Up squat is also a reasonable response. Supply swamping demand works here as well.
Since we have a narrow range up interval closing in the middle of its range on increasing volume.)
8. F. Test

9. J. No Demand (This somewhat falls into a Polar bear in Hawaii. It is No Demand in the wrong
place. If you have TG or watch a webinar, play close attention to the dialog box for No Demand.
The second line states, "...This can be a down bar if the bar makes a higher high than the previous

bar..".)

10. C. Up Squat (officially, I was looking for an Up Squat. Climatic Action is a good answer as
well. Had the volume been higher, End of a Rising market would work as well.)

11. L. Hidden Test

12. 1. Test

As for entries, the best entry in my opinion is the unmarked. No Supply bar that comes after we see
Pushing thru Supply. Which just goes to show you that it all comes down to being able to actually
read the bars....

#'s 11 and 12 make good entries as well.

#8 1s an aggressive entry. I think the interval after #9 is also valid and aggressive if you see it as a
high volume test.

Thanks for all the responses.
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